
Chemistry – Chapter 11 Book assignment #1:  Skeleton equations, balancing practice 

1.  Write a sentence that describes this chemical reaction:   

  Na(s) + H2O(l)  NaOH(aq) + H2(g) 

2.  Sulfur burns in oxygen to form sulfur dioxide.  Write a skeleton equation for this chemical reaction. 

3.  Balance the equation:  CO + Fe2O3  Fe + CO2 

4.  Write the balanced chemical equation for the reaction of carbon with oxygen to form carbon       
monoxide. 

5.  Balance the equation. 

 a.  FeCl3 + NaOH  Fe(OH)3 + NaCl    

 b.  CS2 + Cl2 CCl4 + S2Cl2     

 c.  KI + Pb(NO3)2  PbI2 + KNO3     

 d.  C2H2 + O2  CO2 + H2O     

6.  Write and balance these equations. 

 a.  calcium hydroxide + sulfuric acid  calcium sulfate + water 

 b.  sodium + water  sodium hydroxide + hydrogen 

7.  Write skeleton equations for these reactions. 

 a.  Heating copper (II) sulfide in the presence of diatomic oxygen produces pure copper and 
      sulfur dioxide gas. 

 b.  When heated, baking soda (sodium hydrogen carbonate) decomposes to form the products 
       sodium carbonate, carbon dioxide, and water. 

8.  Balance the following equations: 

 a.  SO2(g) + O2(g)  SO3(g)     

 b.  Fe2O3(s) + H2(g)  Fe(s) + H2O(l)    

 c.  P(s) + O2(g)  P4O10(s)     

 d.  Al(s) + N2(g)  AlN(s)     

9.  Write and balance equations for the following reactions: 

 a.  iron metal and chlorine gas react to form solid iron (III) chloride. 

 b.  Solid aluminum carbonate decomposes to form solid aluminum oxide and carbon dioxide gas. 

 c.  Solid magnesium reacts with aqueous silver nitrate to form solid silver and aqueous    
      magnesium nitrate. 


